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Incorrect statement regarding principles of development
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4

Development is cumulative
Development is the product of Interaction
Development proceeds to General Continuously

Development follows a definite direction
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According to feedback from psychologists ‘Gang age’ is

l.
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4

Puberty
Infancy

Adolescence

Later child hood
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Name the variable that impede the experiment
Independent

l.

2. Dependent

3. Intervening

4. Single
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Socio — culture — theory was proposed by
1. Erik Erikson

2. Chomsky
3. Hurlock
4. Vygotsky
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According to Piaget, ‘egocentrism’ is at this stage
Sensory motor stage

1

2 Pre — operational stage

3. Concrete — operational stage
4 Formal — operational stage
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According to Psycho — Social Development theory
‘Hero — worship’ belongs to following stage
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Author of the book “The Sociology of Teaching”
1. Francis Galton

2. Watson

3. William James

4. Willard Waller
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Differential Aptitude Test Battery (DATB) was developed
based on the following theory
1. Spearman Specific Factor

2. Guilford Structure of Intellect

3. Thurston Primary Mental Abilities

4. Thorndike C.A.V.D
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A 4" class student named Saritha told that 5x5= 5%, then her
thinking process is
1. Convergent thinking

2. Divergent thinking
3. Concrete thinking
4. Abstract thinking
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10.

11.

Meta cognition means
1. Perception

2. Creativity
3. Knowledge

4. Knowing one’s own mind
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The reason for Children under 18 years of age are not given the
right to vote
1. Low Growth

2. Low Maturity
3. High Emotions
4. Low motivation
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The stage where learning speed is fluctuating on a learning
curve.
1. Fluctuating stage

2. Plateau stage
3. Initial spirit stage
4. Body limit stage
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The concept of ‘Learning Disability” used for the first time by
1. Vygotsky

2 Samuel Kirk

3. Thurstone

4 Thorndike
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In this level of creativity new events will be discovered

1. Production level
2 Research level

3. Expressive level
4 Innovative level
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Which is not in the ‘Tri polar process’

1. Content
2. Library - Labs
3. Teacher
4. Student
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One of the following is ‘Secondary need’

1.
2.
3.
4.

Food
Sleep
Home

Water
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Example for Displacement

1.
2.
3.

4.

A clerk shows his angry on his wife instead of officer
Fantasy

Unreached grapes are sour

Slow and study wins the race
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Instrumental conditioning is proposed by
B.F. Skinner

Vygotsky
Kohler
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Pavlov
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“Unfinished tasks are remembered for longer time” is called as

1. Zygornic Effect

2. Deja Vu

3. Rote memory

4. Short term memory
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The skills learned with the right hand can also be performed
with the left hand. This type of Transfer is

1.
2.
3.
4.

Positive — Transfer of learning
Negative — Transfer of learning
Zero Transfer of learning

Bilateral Transfer of learning
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According to Bruner’s theory one of the following is not a three
modes of representation

1. Enactive
2. Iconic
3. Symbolic

4. Cognitive

(20238 DEToB0 (P50 (B 50S” B wo¥o
(] =g

1. §Q)e3°§e§&§

2 2.5°35:3°e§&§

3. P&weys

4

DOZTI°eH &§
=y

As per NEP-2020, School Education is
1. Pre Primary to 12" class

2. Primary to 12" class
3. Primary to 10" class
4. Pre Primary to 10" class
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Mathematical learning disability is called
1. Dysgraphia

2. Dyscalculia

3. Dyslexia

4. Dysphasia
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According to RTE 2009 ‘children’ are
1. 3 - 15 years

2. 5-11 years
3. 5 - 15 years
4. 6 - 14 years
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“Theory of Language Acquisition” was proposed by
Pavlov

Skinner

Bandura

b=

Noam Chomsky
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One of the following is not a type of projector
808 78" FBE56e %0 B

1. LCD
2. DLC
3. LED
4. DLP

Trojan Horse is a

1. Computer application
2. Virus

3. App

4. Resource
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One of the following is not a Pre Language skill of a child

1.
2.
3.
4.

Crying
Babbling Sound
Gestures

Reciting poems
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Over 85% of cumulative brain development

occurs prior to the age of

1.
2.
3.
4.

4 years
5 years
6 years

7 years
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61.

62.

63.

64.

English Paper - 1A

Statistics not my favourite subject.

Choose the correct form of verb to fill in the blank

1
2.
3.
4

has
1s
are

WCEere

Nobody phoned,

Choose the correct question tag.

1
2.
3.
4

did he?
do they?
did they?
didn’t he?

He said, ‘Please give us some water.’

Choose the correct reported speech of the sentence above.

1
2
3.
4

He requested to give them some water.
He asked to give him water.
He requested to give him water.

He told them to give us some water.

Choose the adverb that is not used with present perfect tense.

1.
2.
3.
4.

yet
already

just

tomorrow



65.

66.

67.

68.

It’stime she  to bed.

Choose the correct form of verb to fill in the blank.
1 had gone
2 will go
3. goes
4

went

In India (A) / a very large section of young female force is (B) /
deployed at (C) / domestic servants (D)

Choose the part that has a grammatical error.

A

1

2. C
3. B
4 D

Choose the sentence that can’t express obligation or necessity.
You have to go there right away.
2. You must meet him without fail.

You should clean the wound before
applying the ointment.

4. You might talk to him.

My brother has returned his work place.
Choose the word that fits the blank.

1 from
2 along
3. onto
4

below



69.

70.

71.

72.

She was unhappy or she was upset.

This is

1
2
3.
4

Gopi had lived in the village for 20 years.

a simple sentence
a compound sentence
a complex sentence

a compound complex sentence

the locals

still considered him an outsider.

Choose the word that links the two sentences.

1
2.
3.
4

Through
Nevertheless

Because
As if

He would have passed his exam

Choose the correct ‘if clause’ to complete the sentence.

1
2
3.
4

if he worked hard

if he had worked hard
if he works hard

if he has worked hard

Read the following newspaper headline.

DISCOVERY THAT ASPIRIN CAN HELP FIGHT CANCER

Now, choose the passive voice for the above headline.

1
2.
3.
4

It has been discovered that aspirin can fight cancer.
Aspirin is going to fight cancer.
The discovery of aspirin was made by aspirin.

Aspirin was the discovery of cancer.



73.

74.

75.

76.

‘Twittering’” means

1
2
3.
4

making a series of short high sounds
speaking quietly
wanting great quantities of food

speaking unclearly

Choose the word that fits the blank with the opposite
of the word underlined.

Cruelty towards animals is a sin. We should

show

1
2
3.
4

to animals.
atrocity
kindness
brutality

malice

I took a great axe and knocked down the wall.

The meaning of the phrasal verb ‘knocked down’ is

1
2.
3.
4

Choose the correct articles to complete the sentence above.

1
2.
3.
4

demolished
escaped
became very sad

dispersed

train runs faster than bus.

A, an
The, a
An, the
The, the



77.

78.

79.

80.

1.

I like blue.

Choose the correct question to get the above sentence
as the answer.

Do you like blue colour?
Does you like blue colour?

1

2

3. Which colour do you like?

4 Why do you like blue colour?

Choose the word that can begin with a capital letter.

1 british

2. birds

3. board

4 boys

The following is not a part of the diary entry.
Date & time
Subscription

1
2
3. Salutation
4 Name & Signature

Choose the tri-syllabic word from the following.

1 revolt

2 sublime
3. ability
4

envelope

Choose the correct spelling of the word.

1 concious
2 conscies
3. conscious
4

consious



82.

83.

&4.

Choose the word without a prefix.

exhale
react

1
2
3. decode
4

savage

Read the following passage.

Homework has historically been given to students to reinforce
what they learn at school, and ultimately to help them learn the
material better. However, too much homework is not helpful
and can be counterproductive.

Homework helps students

1 forget what they have learnt
2 strengthen their learning

3. produce new material
4

lose their interest in studies

Read the following passage.

Homework has historically been given to students to reinforce
what they learn at school, and ultimately to help them learn the
material better. However, too much homework is not helpful
and can be counterproductive.

Too much home work, according to this passage........
1 reinforces what students learn at school

2 helps for ultimate learning

3. helps to produce ultimate products

4

impacts negatively
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86.

87.

88.

“Language is heterogeneous”. This means

1
2.
3.
4

Any language contains words from other languages.
Language is created by new born babies.
Poor people cannot learn English.

It is easy to speak English.

In language learning,

ESL stands for

1
2.
3.
4

Engineering Students Limited
English as a Second Language
European School Learners
English Schools Limited

Choose the signal word that indicates ‘support’.

1
2.
3.
4

for example
but
If so

as a result

The following is a form of introspection.

1.
2.
3.

4.

a story with animal characters
describing a picture
biography

autobiography
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90.

The most important tool for language learning in S-O-S
approach is

1 spelling

2 punctuation

3. nouns and adjectives
4

structures

The words that make a sentence grammatically acceptable are
synonyms
antonyms

1.

2.

3. structural words
4. content words
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APTET - Paper- I — 2022
Mathematics

Ascending order of -7, 5, -3
~7, 5, -3 © e8°eaE0

R b=

5,-3,-7
5,-7,-3
-5,-7,3
-7,-3,5

Which pair is not co-primes

g PFTosTen S 26

1
2.
3.
4

7,15

12, 49
12,21
18,23

The value 0of 23.5 - 27 +35.4 - 17
23.5-27+354 - 17 e

1
2.
3.
4

15.9
12.9
13.8
14.9
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95.

96.

The minute hand of a clock is 15 cm long. How far the tip of
the minute hand moves in 1 hour (in cm)

28 KEArEo8” Do 5063 K 15 0.0, 9o
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WD

90.40
82.40
94.20
90.20

A bottle contains 2.2 liters of juice. How many cups are
required with volume of 200 ml. to transfer the juice in them

2.8 Hr&® 2.2 8. BHTBO 0B, A 200 .8
POSHOSTEI0 Ko §Zg)c3e>é£ DowS ) s 0.

1
2.
3.
4

44
100
22
11

One of the following letter is not a symmetric figure
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2.
3.
4

m m W >
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98.

99.

Ifx: 2% 2 21:50 then x =

X: 2% 2 21:50 29008 x =
1. 1L
49
2. lL
50
3. ¥
50
. 2
50

Simplify (x™)" P . )P ™. ()"
™)L (P, () K>5°§&§aoiim

1 1
2. 0
3. 3
4 2

Length of the arc of a circle is ‘/” and radius of the circle is ‘#’
then its area in square meters
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100.

101.

102.

/1296 Value =
V1296 densS =

1. 26
2. 36
3. 16
4. 46

The cost of 20 meters cloth is Rs. 1600 then the cost of 24.5
meters cloth is (in rupees)

20 e 2xéy B 8. 1600 9000 24.5 Wexy 2xty B
(Sorc3r08°)

1 1950
2. 1960
3. 1970
4 1980

“15x—9” represents

1 equation

2. expression

3 definite statement
4. ‘x’ is a constant
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4. ‘X’ 2.8 Do}
[©)]



103. 9% =y-— 1% Solve the equation

9% — e I%éﬁlﬁdmmm B8

_ 18
12

:12_7
12

_ 19
12

_ 130
2

104. G.C.D. of 45 and 63
45 3585 63 K50

1. 3
2. 6
3. 9
4, 12
3 -6 -13
105. Simplif —+ F——
5 & 7 5 7
F 3 +_—6+_—13 <os°§&§80z5m
5 7 5 7
78
35
2. B
35
3. —68
35
+68

35



106. If the compound ratio of 5: 8 and 3 : 7is 45 : x then x =
5183008050 3170 0¥ Q)G 45 1 X oS x =

1 165
2. 166
3. 167
4 168

107. In a triangle two angles are 116°, 30° then 3™ angle is

2.5 (©2hes08” Bo Seren 116° 30° @ans 33 §%e0

l. 36°
2. 56°
3. 64°
4. 34°

108. A closed box with measurements of 60cm long, 40cm broad
and 30cm height. Find the cost for painting the outer surface at
the rate of 50 paise per 20 cm” (in rupees)

60 200.20. &, 40 0.0, IEe0) BN 30 0.0, Iy
SOR 5o KOAS 8 Book), eTIgBe0 Jorb Jcse®
20 5.7200.20.8 50 PHen TS S0 ) (Erdaos’)

1. 500
2. 200
3. 270
4. 370



109.

110.

If a person sold two cycles at Rs. 3000/- each and sold one
cycle at 20% profit and the other at 20% loss. Did he get profit
or loss at what percentage

1.
2.
3.
4.

Profit 4%
Loss 4%
Profit 5%
Loss 5%

o8 ;Sagé BOE éée{)?éo 2.87),.5),¢&3 8. 3000/ - SR\ eaér&cio
A¢5E3 A 20% a8 ToES A 20% SLIE @S
A0 A SIS ST SO SRS 0 SO

1.

LN

g0 4%
:6%0 4%
3o 5%

530 5%

Median of 3.3, 3.5, 3.1, 3.7, 3.2 and 3.8 is
3.3,3.5,3.1,3.7, 3.2 08350 3.8 éoé?smﬁo

1
2.
3.
4

3.3
3.4
3.5
3.6



111.

112.

The length of rectangular grass land is 55m. and breadth is
45m. In the centre of the grass land two paths of 3m. wide, one
is parallel to the length and the another is parallel to breadth are
situated in a way that they are intersecting each other. Then the
area of the path is (in cm?)

&g SEGSE KG 2 FEY 55., e 45%. o
53556‘5 3. Bekew) SOAS Bo ereren a8 FEHD
DSrosTonr o085 Bcée»o)& DSrosSonr eEmrode 85
POGOTAGOM® GIN00. WO 2™ JTg0 (5.20.2.08)

1. 191
2. 291
3. 391
4. 491

The sum of 3 expressions is 8+13a+7a> two of them are
2a’+3a +2 and 3a’—4a +1 then the third expression is

3 VS IS0 8+13a+7a° BS° B BT
2a*+3a +2, 3a’—4a +1 @00S 335 PSTH0

1 2a’+14a +5
2 3a’+14a +5
3. 3a’+14a+6
4

2a°+13a +5



113. If the two lines are parallel, then the sum of the interior angles
of same side of transversal is

1. equal
2. complementary angle
3. supplementary angle

4. right angle
Botk> ¥I7r0SE Tpod® BE T wIFYS Ko woss Sero

[Svate

1. QIS0

2. SrSESeroen
3. LDOJeE oD
4. o280

114. When two straight lines intersect each other, the pair of
opposite angles formed at point of intersection are called as

1. Corresponding angles
2. Alternative angles
3. One side of the transversal

4. Vertically opposite angles

DO VEFOPeD .58 2,58 POBODHHY)E & POES
Do S 5363&5 S0P Sere BB

1. mso)r‘ofsgswen
Nse0ess Sheseen
8558 T 2.8 FpKo Seen

- W N

%q&i);ﬁoog) &Peoen



Maths Methodology

115. Deductive method was propagated by

1. Aristotle
2. Plato
3. Comenius

4. John Dewey
QS DEA (Parso SEINTA

1. St dabl
2.

3. SRR
4. wREr5or

116. Puzzles, riddles, stories etc., are promoting this value
1 aesthetic value
2 utilitarian value
3. recreational value
4

cultural value
$29), 0&6), EFen J0EPSIRY B LSS DOFOBT00
L 598 dens
2. TIBAE e
3. ISy ey
4 O NBE e



117. *“Area is the product of length and breadth” this is
1. principle
2. process
3. generalisation
4. visualisation

DEY L0y 0r) FTO WOrD” 30 &8

1 Q¢80

2. (B&H

3. orosisses
4. 650)%5§6m

118. Student who knows addition and subtraction can’t understand
this concept

1. Total, difference
2. Addition and subtraction are reciprocals
3. Every addition has two subtraction forms

4. Multiplication is repeated addition
SrGE, VIS Doy BALKOAS I8 Bs PSS
sgoFOTDE

1L oo, Bo
VOO SgSsoTen IS (HEahen

W doZeI$ Totd ;5535§e>5 é@swoe?oao

L

8580 3385 DOEOS0



119. The Indian mathematician who wrote principles of zero is
1. Bhaskaracharya
2. Varahamihira
3 Panini
4. Mahavira
R0F) AEHITK SRONS 2B KBS (LI

1. 2;%30%?65
ST S
Je3D
So538E

L

120. This is useful to teach additions in fractions
1. Card board

2. White paper

3. Grid paper

4. Graph paper

DS Sréses IBYETS 30 ER@PRDES0D.
L 88

2. B9 S°AS0

3. A& Db
4. ™ Ao



121.

122.

APTET — Paper-1- A —2022
EVS

The word Vaccine comes from “Vaca” which means
1. Cat

2 Cow

3. Horse

4 Donkey

mégs 9B B0 TS $o0D SNS 8 Sle

1. 28

(9p]
2. e3)
3. hS](efe
4, ésds

The following one is not a natural cause for air pollution

1. Volcanic eruption

2 Forest fire

3. Automobile emissions
4 Decay of organic matter

e s°e:oix°§§0§ V52 325830 308
1. eai})) ‘JDCESQF’QD @ag@mes
SO SIS0

PTPI°O ec;:c"en

L

oda% Dorgren HFSE0
o]



123. These are called world’s eco system managers

1. Industrialists
2. Farmers

3. Scavengers
4. Doctors

DB (HH0T 3383 $FIY VT 9 @0
[©)

L >BEWE3Sen

Oedoen

i)“@r‘o‘)&iag SESPEESS

L

SC0ge0

124. The property helped in separating the husk from grain
1. Husk and grain are light weight
2. Husk is very light as compared to grain
3. Husk is very heavy as compared to grain
4. Husk and grain are heavy weight
50 $r08 e B Baheod® SE)E S0

L ey, 50 Dok BOKM Goeran

2. ey, 508 FO Tror BOSM &0e0d
3. Fey, 508 FY Tror aHIMT G00od
4, Pe, F°350 TO& @RE 2% SOR &oeraw



125.

126.

In a cell, genetic material is present in the cell organelle

1. Golgi complex

2. Endoplasmic Reticulum
3. Lysosome
4. Nucleus

ge208° 23855 DEPYO &0% EeT°0K0

L sodne

2. 088 ((555ere0
3. SIS Sow

4. SolEso

Reproduction through budding is seen in

1. Amoeba

2. Hydra

3. Paramecium
4. Plasmodium

5°5825550 ON0° (BRSNS BHYSO

1L eodoar

2. T

3. JorabAeHo
4. LR ylano



127.  Which of the following is not tributary of river Krishna

128.

1.
2.
3.
4.

Koyna
Malaprabha
Panchaganga

Gouthami

208 98° SEIAIE AN AR TR

1.

L

§%00sS
NVSPSTA
DoWKoN
RS

The first trophic level of an ecosystem is

1.
2.
3.
4.

Consumers
Producers
Decomposers

Abiotic Components

©58es SESRS"D (HEH FAEJ 000

1.

L

AIBTKTEO D
&S\ YTt
qugs%beu
NJshispet oM



129.  When two bar magnets are brought together

130.

1.
2.
3.
4.

Like poles repel each other
Unlike poles repel each other
Like poles attract each other

Nothing will happen

B0 SOOI OTOD KB SBROEISY)S)E

1.

L

D2 650)3%» D8Go§ 0eTa0
2 cio)me» 8GoE 0eTa0
dezeds Cio)ae» e500w8 080
DA ZEKESH

Matter is defined as

l.

4.

Substance having mass but which does not occupy space
is called matter

Substance occupies space but without mass is called
matter

Substance having certain mass and occupies some space
is called matter

Solid materials are called matter

éw%i‘b 8o J&ome 3&232)075;575{).

1.

@5;55@% 5OR &od beﬂ‘&& 3|50 TP DIPYO
[©) ()
e90E3°D

Ror) e(EW0D), (555078 B A HPTO 90T,
() [©)

Fod ($5:550°8 SOR &0k Pord) e(E0B A
[©)
:»crgo 908370

DS :;crcge::& bwgo €900,



131.

132.

This is responsible for “Minimata” disease

1. Sulphur

2. Cadmium

3. Arsenic

4. Mercury

“WAeT” 90 T508 s°8e0
1. é@gg

2. Sele 36520

3. SN

4. Dbxrgd

Hormone secreted by ovaries
Testosterone

Adrenaline

Thyroxin

Estrogen

& DuEren &HY TD 99671
BYROR

AESOS

e > » N =

.|_\

@m%é_

W N

éa@ws



133.

134.

APTET — Paper-1 A — 2022
Social Studies

The place where the earth appears to meet the sky is
1. Horizon

2 Isobars
3. Isolines
4 Isobaths

2, B850 SDVSEY 50T (HBFo

1. SUpleleise
2 mﬁszr’%
3. 2B

4 33:35&7"9%

In Eskimo language ‘Igloo’ means

1. Winter
2 Dress
3. Shelter
4 Tents

Ay wRS’ AT 0&

1. a0
2. odoen
3. eslFano
4. ROGPTe0



135. Find the incorrect matching about early bankers in India

1. Jagath seths - Bengal
2. Shahs - Patna
3. Chettiars - Madras

4. Arunji Nathiji - Hyderabad
ESTY 508 oSS’ HOM BSTHBSI TAY K90S0s.

1. esKS e - Bord
2. e - e

3. BY>rE - SR
4. oDHSE >EE - TeSoerd

136. “Assembly Line Method” of production of cars was introduced
in USA by

1. Henry Ford
2. James Watt
3. Charles

4, Samurai

0SS’ S &S)B InSoso Baserdd
‘@0 BS AT BIFDESTH

L RFE
2 B0)S
3. a@%

4 0300705



137. Ryotwari System means

1. Peasant tenure
2. Tax

3. Cultivated land
4. Tenant Farmers

PO IR0 &S

L 30%H M T8, 3360
2 ShS)
3. N CEAVLAN
4

S’ Jeoen

138. A New National Mineral Policy was announced in the year
58 205 Pz IR (FEL0DS BOSS S0

1. 1991
2. 1992
3. 1993
4. 1997



139.

140.

The leader of the “Chirala - Perala” movement
1. Parvathaneni Veeraiah Chowdary

2. Venkatappaiah

3. Duggirala Gopala Krishnaiah

4. Gadicharla Harisarvottama Rao

“DO° - HO°L” &35 TPADHBE

1. ZDCES9§3<°J 3)60‘535 358
2 Bo§eaéo)oﬁo§

3. i lopl Ksb@§°)§ojo§
4 &Sy X7°8é665e_§°;530°;§)

“Begar” Means
1. Agriculture

2. Tenant

3. Interest

4. Bonded labour
“Bres 7 e

1. ;5535@"0‘530



141. The author of the “Satyarth Prakash” book
1. Swami Vivekananda
2. Swami Dayananda Saraswathi
3. Rakakrishna Paramhamsa
4. Raja Ram Mohan Roy
Rloye! P°F YT BSones

1. 3‘33} AR50
3:33)3 53357508 66603@

TPER DTRT°00

= DN

O°2® OP0 IS oPa0

142. “Gomateshwara Temple” located in the state of
l. Maharashtra
2. Karnataka
3. Kerala
4. Bihar
“RESBHE BT0a0” Bs o1HoS” &od.

1. oo
2. oy
£9
3.  B5%
4, D&



143.

144.

Term “Hindu” derived from the word

1.
2.
3.
4.

Indian
Hinduism
Sindhu

Indoi

O30T 9% D0 Ba HS0 $H08 é,cszbé’)o{’)o&.

1.

L

308098
P0C030¢50

9

Slelab)
30800

“Devadasi System” was strongly opposed by

1
2.
3.
4

Rukmini Devi
Bhagya Reddy Varma
Balasaraswathi

Koteswaramma

AP SEIRS ;Lo PGS T

1.

L

d)é&e%éi)
aT"K?SBé:,SCS&
wobc%cs@

§Se:3:§3c5;5o b}



145. The ideal Student — Centered teaching method for teaching
physical science is

1. Project method
2. Heuristic method
3. Inductive method

4. Deductive method
TOS PR SR0HOH @S I TolBes HES
L (B 98
e @
2. Z5°o§8?o§ DG
e @
3. (ETINOIN zage‘:a
4. QRS Zage‘ia

146. ‘Giving reasons’ is one of the specifications of the following
educational objective

1. Application

2 Knowledge

3. Understanding

4. Skill

TUETe ooy’ e ITGOEID @Y, V)RS

1. AIBKO
2. 250

=y
3. [OINT RS LN
4.

é@a&‘@a



147. Suitable method to teach the concept of “Growing school
garden”

1. Experimental method

2 Heuristic method

3. Resource method

4. Project method

2GS M oSG0 & 0T §'RHOTEIS VWP HES

L P& HE
[ev]

s W N
X
A
&
G
<
DEX
(637

148. “Educational Objectives are defined as the values of education”
1 Cunningham
2. Cane
3 J.S. Brubacher
4. Albert Einstein
“AgoFS AEgA05e0” @ IS DODIIE

L S0AS

2. AN

3. BIR. (@o83sd
4. eo)5 oS



149.

150.

Summarizing all the basic points of a topic is a part of

1. Correlation approach

2. Concentric approach

3. Unit approach

4. Integrated approach

28 @008 BoOS ©) |FEWT AT JrFrom TH)Eo

1. DIPI0W0E &DRIOo
2 DESo(ES &Ko
3. 0l &RKS0
4 SFoSE® &HND00

According to the instructions of this committee environmental
studies divided into EVS — I, EVS-IL

1 Eshwari Bai Patel Committee

2 Lakshman Swamy Mudaliar Committee
3. Kothari Commission

4 Radhakrishnan Committee

SBROO TR S EQED DIPSS0 8K D8voce degso 1,
$0390°0 Jepso Meor JzsLod SP00SE0 =BROO.

1. éa%gsaaf"o% DES EQed

2. egéeaazszso BSOASTE EQed
3. ood RS

4. comgg%!s" EQe3
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